
07

step 7

step 8

G

Move the display horizontally to a proper position and
lock it using the wrench in the back of the plate.

Manage the cables using cable clips. 

a

S=4mm

Fine height
adjustment

Position lock

Move left 
and right

Up and down
adjustment

Tilt adjustment
S=5mm

Installation INSTRUCTIONS

8kgs/17.6lbs

Load

13” - 27”

75x75, 100x100

VESA

-15°/+15°

Tilt Rotate

360°

Multi-screen Monitor Desk Mount



01 06

PARTS INCLUDED
OR  step 5

step 6

Innovation design for slide experience provides easy adjustment. 
+15/-15 degrees tilt forward and backward presents a better view.

Arm assemble

X

TV TV

B/C

B/C

D

Screw on but do not tighten
Put the monitor on the panel

Tighten the screws

Base assemble

M6x15 (x3) M6x8 (x6)

a b c d

15°
15°



05 02

Head Assemble Parts list:step 5

A

X

TVTV

A

Screw on but do not tighten
Put the monitor on the panel

Tighten the screws

M4x12 (x12) M4x25 (x12)

M4x30 (x12) 12X5.8X16 (x12)

S=3mm(x1) S=4mm(x1) S=5mm(x1) 

(x4)

G

M8 (x2)F

(x4)

8X55 (x2)



03 04

step 1

step 2

step 3

step 4

F

F

F

b

S=3mm

Base assemble

E

E

S=4mm

S=4mm

c

d


